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(CNF)

- A4
= 14 7 8
= AV
7 15
1. e (context-free grammar)
y - N
. x N (non-terminal symbol)
- T
. x T (terminal symbol)
= (start symbol)S Q
= (production) P Nx (N T)*
*A-a (o =¢ € )
cAad.lasAsa . Alan
-G=(N,T,P,9)
Chomsky
G=(N,T,P, 9

A-BC (A,B,C N)
A-a (A N,a T)

Chomsky (CNF: Chomsky Normal Form)




Chomsky €
€ (€ -  :€ -production) G=(N,T,P,9
<€ {G=(N,T,P,S)
(1) L(G)=L©G)
- ¢ L@©G G ¢
| S - &
3. Chomsky (3) G < p
3 3

! "]‘; G=(N,T,FP,S)
P84 N'=N {S} (S /N)
» P'
(e L© S e
(ii)s -S
(iii)A - a 1A10 2...0 KAkO k1 P,
AN T@ i k,oi N
A Al Ak k 1)

Ni
n=|N|, i=1, ..., n
N1={AJA -€ P}
Ni+1=Ni {AJA-a P,a Ni*}

P
P={S-AB, A ABAC|BJa,

B-C|bje , C- Bjcle }
1. (i) € L(G) S -¢
2. (ii) S-S

N={S, A, B, C}, T={a b, c},
P={S—AB, A— ABAC|BJa,
B-Clble , C- Bjcle }

N 1G=N.T.P.,S)
N'=N {S}={S A,B,C S}, T={ab,c}




€ 3

2 3 i)
1.Ni
Ni=(B, C}, Ne={A, B, C} |N={S A, B, G} |
2.5-AB
1A1=A, A>=B,0 1=0 2=00 3=¢€ S-AB
2A1=A,0 1=€ ,a 2=B S-A
3A:1=B,0 1=A, a =¢ S-B

3
3. A-ABAC
1 A1=A,A=B, A=A, A=C o 1=a 2=a 3=0 4=0 5
=t A _ABAC

2. A1=A,A=B,As=A, 0 1=02=a 37¢ ,a4=C
A _ ABA

3. A1=A,A>=B,A3=C,a 1=0 2=04=€ , 0 3=A
A _ABC

4. A=A, A=A, A3=C,a 1=03=0a 4=¢ , 0 2=B
A_AAC

5. A1=B, A=A, As=C,a 2=a ~a 47¢ ,a A
A _BAC

a2 3

4 A_B A_a
4.B-C,B-bC-B,C-c

3
3. A_LABAC
6. A1=A,A2=B,a 1=0 2=t ,a 4=AC A-AB
7. A1=A, A=A, 1=¢ ,d2=B,a4=C A-AA
8. A1=A,A2=C,a 1=¢ ,a,=BC a 4=¢ A-AC
9. A1=B,Az=A,a1=A,a2=¢ ,04=C A-BA
10. A1=B, A2=C, 0 1=A, 0 2=A, 0 4=¢ A-BA
11. A1=A,A2=C, a 1=AB, 0 2=¢ ,a4=¢ A-AC
12. A1=A,a 1=¢ ,a 2=BAC A-A
13. A1=B,a 1=A,a 2=AC A-B
14. A1=C, a 1=ABA, 0 ,=¢ A-C
G=(N,T,P, S
M L(G)=LOG)
N~ ,
m G=(N,T,P,9
e
e LO) S-€

(2 A-a (] 2,0 (N T){3)
(3) A-a (a T)

S-Se
S-ABJA|B
A él%lACIABA|ABC|AAC|BAC|AB|AA|BA|AC|BC|A|
a
B_Cpb
C-Bjc
(i A~BB N)
1. Ni(A) (i 1)
1. NyA)={A}
2. Nisi=Ni(A) {B N C Ni(A)
C-B P}

2. P \

P={A-a| B NuA)[B-a P a N}
n=IN|




' | =G=(N, T,P, S
N={S, A, B,C}, T={a b, ¢}
P={S—-A, A-AB|a B~ C|b, C~A|c}

Ni(S)=(S}, N(S=(S, A}=N&(S)
Ni(A)={ A} =Na(A)

N(B)={B}, Ne(B)={B, C}, Ns(B)={A, B, C} =N«(B)
Ni(C)={C}, Ne(C)={A, C}=Ns(C)

) -B-a P a N Ba

{ .G =N,T.F,9

{(A, AB), (A, a), (B, b), (C, )}
Ni«(S)={S,A} o {AB,a
Ni(A)={A} o {AB,&
N4(B)={A,B,C} o {AB,ab,c}
N4(C)={A,C} o {AB,ac}

N={S A, B, C}, T={a b, ¢}
P={S_ ABJa, A ABJa B- ab|c/AB, C - alc/AB}

Chomsky

Ll CFL G=(N, T, P, S)

A | )z ) Chomsky
@ CFL G =(N',T,F,S)

1. G S-¢
A-a (a| 2a (N T){S)*
A-a (@ T)

Chomsky

2. A-X1. Xk (Xi (N T)4{S.,k 2)

Xi N Yi=Xi
Xi T Yi

A-Y.. Yk YioXi

Chomsky

g= | CFL G=(N,T,P, 9
§  N={S A}, T
P={S-AaAA, A-2a
G Chomsky
S-Y1Y2Y3Ys4, Y1-A,¥2=g Y3-A, Ya-A

A-Yi.. Yk
k-2 Z1... Zx2
A-Y1Z1, Zi-Y222 ..., Zk2— YiYk
Chomsky
Chomsky
= || Chomsky G=(N",T,F,S)

N ={S A, Z1, Z2,Y2}
P ={S-AZ1, Z1-Y2Z2,Z2-AA, Y2—~a, A-a}







